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307 212t01& 645,000 664,000 A 19,000
= 10,000
= 635,000
02 BIHANEX 420,000 373,000 47,000
OENSE d2Us &It 4,000,000& * 13l 4,000
OSHEXNEAE A&dZI U XA 2,000,000& * 23l 4,000
Oz=&014 M=z =l X 3,000,000& = 103 30,000
O=M=sUe &It N&E 180,000,000& * 13 180,000
O2H=EUa =+ &= X 5,000,000& = 13l 5,000
OHN21el Ba4gs MEMNSUI SHIHXS 65,000,000 = 13l 65,000
OHM21el Ba4gs MENSUHI SIHLHA = 5,000,000& 5,000
OH43l J&dE oH=2d MaHstsl S0t X3 10,000,000& * 13 10,000
O -sgdx=d =203 M= 15,000,000& * 13 15,000
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O¥gZ= g =203 HE X 10,000,000& * 13 10,000
Oz=2 ZIItHal JH=l 5,000,000& * 23l 10,000
Osad =3 24 1& 2,000,000& 2,000
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M Hsgs E AL
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SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
201 Let2d| 39,660 0 39,660
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< 2,000
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OX &0l #A X & 3,000, 0002 3,000
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O25101% OIHME AlAl 5,000,0002 5,000
= 5,000
OSMSTO OME A 2 &JIIH 224 N 3,000,0002 3,000
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NPT 5,811,940 1,375,015 4,436,925
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= 380,000
2 2,131,940
HSHSAE 23 300,000 0 300,000
401 AE6IL 20 300,000 0 300,000
01 Al&H] 300,000 0 300,000
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202 OiH| 5,940 5,940 0
01 2UH0ibl 5,940 5,940 0
ORgANLE 22l 165,008 * 3% * 128 5,940
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OEXNSLE =8 sX32 ZdAY 120,000
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405 KHAHFESHI 6,000 0 6,000
01 HARESF=H 6,000 0 6,000
OEXNHULAE HHlE M8+ 6,000, 000& 6,000
A8 HSAE RAE=> 120,000 214,075 A94,075
401 Al&HI YL S OHHI 120,000 190,000 A70,000
01 Al&HI 120,000 190,000 A70,000
OZE=sd ¢4 SHsS =8 E=FA 20,000,000& 20,000
OR=HIZN0ESE ME L &I HESA 100,000,000 100,000
OIS E2 MSAE 150,000 120,000 30,000
= 10,000
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401 Al&HI LS04I 150,000 120,000 30,000
< 10,000
= 140,000
01 Al&H| 150,000 120,000 30,000
OAOIIE 3 MEHHAE X (HEAHAY) 10,000,000& 10,000
& 10,000
Oo¥d Za=s31d ZEMY 60,000,000& 60,000
OgaHLIAE 2XI0HY 80,000,000& 80,000
FE=0NSHH A 3,500,000 0 3,500,000
= 3,000,000
= 500,000
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